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1. With the help of nodal analysis on the circuit of Fig.1, find (a) va ¢ (b) the power
dissipated in the 2.5-) resistor. (15%)

2. 1fit is asswmed that all the sources in the circuit of Fig.2 have been conmected and
operating for a very long time, use the superposition principle to find ve(t) and
vi(t). (15%) - '

3. {(a) Find vc(t) for £ > 0 in the circuit shown in Fig.3. (b) Sketch v(t) versus t, -(1.1
<t<2ms. (15%)

4, For the network of Figd, find Z;, at @ = 4 rad/s if terminals a and b are (a)
open-circuited; (b) short-circuited. (10%)

5. Use phasors and nodal analysis on the circuit of Fig.5 to find V3. (15%)

6. Find the Theveniri-equivalent circuit for Fig.6. (15%)

(a) Write a set of mesh equations in terms of T)(s), Ix(s), and I3(s) for the circuit

showit in Fig.7. (b) Find I if s = -1 Np/s. (15%)

0 mA
Fn,)
Ny
00 60 mH
‘Y‘¢T
+ v~
+ b
250 sowma(f)  spFRvc Zov  (Pawcos10irma -
Figure 2.
4
4H
1
o - £ 79}
Y a
+
10 mA 4kQ %p]-'::_.”c 1482 Lrﬂ] Y ANp— ‘1“
| N
b
20
Figure 3. Figure 4.
1g ~300 Q2
— it
30
. v, 200 Q2 ma
L
-j5a ba
° 10000° V(= °
5/90° A g) 30 60 10/0° A 0020° ﬂ_) 100,90° V T .
Ref.
Figure 6.
Figure 5. -
L wa : :
VA
20 4K,
o ! 4/2 H
1000V 3H 5q
I, I,
tf— tbr—
Figure 7.
T O |1 IR | AR I - Ty e e | P

™




